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Question Type:
Question ID:
Option 1ID:
Option 3 ID:
Option 3 ID:
Option 4 ID:
Status:

Chosen Option:

mca
630680290483
6306801129842
6306801139841
6306801129839
6306801129840
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Question Type: MCQ
Question ID : 630680290490
Option 1 ID : 6306801129868
Option 2 ID : 6306801129867
Option 3 ID : 6306801139869
Option 4 ID : 6306801129870
Status: Answered
Chosen Option: 2
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Question Type: MCQ
Question ID : 630680290491
Option 1 ID : 6306801129874
Option 2 ID : 6306801129873
Option 3 ID: 6306801129871
Option 4 ID : 6306801129873
Status: Answered
Chosen Option: 3
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Ans X 1.3mfg
o 2 TR
X g
X 4.8
Question Type: MCQ
Question ID : 630680290481
Option 1 ID : 6306801129834
Option 2 ID : 6306801129831
Option 3 ID: 6306801129833
Option 4 ID : 6306801129832
Status: Answered
Chosen Option: 2
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Ans

Question Type: MCQ
Question ID : 630680290492
Option 1 ID : 6306801129876
Option 2 ID : 6306801129875
Option 3 ID : 6306801129877
Option 4 ID : 6306801129878
Status: Answered
Chosen Option: 4
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Ans X LHEE
25 2. HgiH
o 3 A
X 478
Question Type: MCQ
Question ID : 630680290484
Option 1 ID : 6306801129844
Option 2 ID : 6306801129843
Option 3 ID : 6306801129846
Option 4 ID: 6306801129845
Status: Answered
Chosen Option: 1
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X 2. 3TgeT
¢ 3. 99dT
X 4. arToard
Question Type: MCQ
Question ID : 630680290494
Option 1 ID : 6306801129886
Option 2 ID : 6306801129884
Option 3 ID : 6306801129883
Option 4 ID : 6306801129885
Status: Answered
Chosen Option: 3
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Question Type: MCQ
Question ID : 630680290495
Option 1 ID : 6306801129890
Option 2 ID : 6306801129888
Option 3 ID : 6306801129887
Option 4 ID: 6306801129889
Status: Answered
Chosen Option: 2
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Ans X La@I?
X 2 S
o 3. 3iEe
X 4. 3med
Question Type: MCQ
Question ID : 630680290493
Option 1 ID : 6306801129881
Option 2 ID : 6306801129882
Option 3 ID: 6306801129880
Option 4 ID: 6306801129879
Status: Answered
Chosen Option: 3
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X 4.9R2T
Question Type: MCQ
Question ID : 630680290488
Option 1 ID: 6306801129859
Option 2 ID : 6306801129860
Option 3 ID : 6306801129862
Option 4 ID: 6306801129861
Status: Answered
Chosen Option: 2
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Question Type: MCQ
Question ID : 630680290486
Option 1 ID: 6306801129854
Option 3 ID : 6306801129853
Option 3 ID : 6306801129851
Option 4 ID: 6306801129853
Status: Answered
Chosen Option: 4
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Question Type: MCQ
Question ID : 630680290487
Option 1 ID : 6306801129858
Option 2 ID : 6306801129856
Option 3 ID : 6306801129857
Option 4 ID: 6306801129855
Status: Answered
Chosen Option: 4
Q13 Wl AZHAYETAEH T A HITAT?
Xt ufdreg ghome.
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¢ 3. ﬁiﬁa‘_!
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Question Type: MCQ
Question ID : 630680290489
Option 1 ID : 6306801129863
Option 2 ID : 6306801129866
Option 3 ID : 6306801129865
Option 4 ID : 6306801129864
Status: Answered
Chosen Option: 3
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Question Type: MCQ
Question ID : 630680290485
Option 1 ID: 6306801129850
Option 3 ID : 6306801129849
Option 3 ID: 6306801129848
Option 4 ID: 6306801129847
Status: Answered
Chosen Option: 4
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Question Type: MCQ
Question ID : 630680290483
Option 1 ID: 6306801129836
Option 3 ID : 6306801129835
Option 3 ID : 6306801129837
Option 4 ID : 6306801129838
Status: Answered
Chosen Option: 1
Section : English Languasge
Q.1 Select the most appropriate option to fill in the blank.
Hereis school I studied in.
Ans o 1 the
X 2a
X B.an
x 4. No word required
Question Type: MCQ
Question ID : 6830680290506
Option 1 ID: 6306801129933
Option 3 ID : 6306801129331
Option 3 ID: 6306801129932
Option 4 ID : 6306801129934
Status: Answered

Chosen Option: 1
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Q2 Select the most appropriate option to fill in the blank.
The child refused to give his crayons, saying, "They are
Ans X lmyself
o 2 mine
x o.my
x 4 me
Question Type: MCQ
Question ID : 6306802390510
Option 1 ID: 6306801129949
Option 3 ID : 6306801129948
Option 3 ID : 6306801129947
Option 4 ID: 6306801139950
Status: Answered
Chosen Option: 3
Q3 Sentencesof 2 paragraph are given below in jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent parasraph.
A.In class we often have to work in groups.
B. Sometimes it's difficult because we can't speak Enslish very well
C. And at other times, we forget to do the work and talk about other things.
D.Further, everyone also talks at the same time or people speak very loudly!
Ans X 1.ADCB
« 2 ABCD
/< B.ACBD
/< 4.ADBC
Question Type: MCQ
Question ID : 630680290504
Option 1 ID: 6306801129933
Option 3 ID : 6306801129934
Option 3 ID: 6306801129926
Option 4 ID: 6306801129925
Status: Answered
Chosen Option: 3
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Q4 Select the most appropriate synonym of the given word.

Alling
Ans X 1. Penniless

X 2 Destitute
/< 3.Humble

o 4. Unwell

Question Type:
Question ID:
Option 11ID:
Option 2 ID:
Option 3 ID:
Option 4 ID:
Status:

Mca
630680290496
6306801129891
6306801129894
6306801129893
6306801129892
Answered

Chosen Option: 3

QS5 Select the most appropriate meaning of the given proverb.
Haste makes waste
Ans o” 1. You make mistales when you try todo something too fast
x 2. Do not waste things without checking if they can be of use
x 3.0ne can quickly make useful things out of waste products

X 4.Throw away waste before it putrefies and smells

Question Type:
Question ID:
Option 11ID:
Option 2 ID:
Option 3 ID:
Option 4 ID:
Status:

Mmca
630680290501
6306801129912
6306801129913
6306801129914
6306801129911
Answered

Chosen Option: 1

Q6 Select the option that can be used as a one-word substitute for the underlined sroup of words.

We did not haveany heavy showers, it wasonly a light rain falline in very fine drops.

Ans X Ltrickle

X 2.flood

/< 3.mist

o 4.drizzle

Question Type:
Question ID:
Option 1 ID:
Option 3 ID:
Option 3 ID:
Option 4 ID:
Status:

Chosen Option:

mca
630680290502
6306801139917
6306801129918
6306801129916
6306801139915
Answered
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Q.7 Select the most appropriate option to fill in the blanks.

Liza bought herself chocolate ice-cream at shop.

/< B.No word required, an

o 4.4, the
Question Type: MCQ
Question ID : 630680390507
Option 1 ID: 6306801129936
Option 2 ID : 6306801139937
Option 3 ID: 6306801129938
Option 4 ID: 6306801139935
Status: Answered
Chosen Option: 4
Q8 Select the most appropriate ANTONYM of the given word.
Jagged
Ans X L. Stiff
o 2. Smooth
/< 3.Blemished
/X 4.Coarse
Question Type: MCQ
Question ID : 630680290497
Option 1 ID: 6306801129898
Option 2 ID : 6306801129897
Option 3 ID : 6306801129895
Option 4 ID: 6306801129896
Status: Answered
Chosen Option: 3
Q9 Select the most appropriate option to fill in the blank.
Please put the fruits this basket.
Ans X Lout
X 2.0n
o 3.into
X 4.off
Question Type: MCQ
Question ID: 630680290508
Option 1 ID: 6306801139941
Option 2 ID : 6306801129939
Option 3 ID: 6306801129940
Option 4 ID: 6306801129943
Status: Answered
Chosen Option: 4
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Q.10 Select the most appropriate meaning of the given idiom.
Look up to
Ans ¢ 1. To respect and admire someone
/X 2.Tostand next to someone tall
x 3. To be afraid of someone

Z< 4.To help someone in need

Question Type: MCQ
Question ID : 630680290500
Option 1 ID: 6306801129909
Option 2 ID : 6306801139907
Option 3 ID : 6306801129908
Option 4 ID: 6306801129910
Status: Answered
Chosen Option: 1
Q.11 Select the correctly spelt sentence
Ans x 1. Ajay has chosen the enginering stream.
x 2. Ajay has chosen the enginneering stream.
< B.Ajay has chosen the enggineering stream.
o 4. Ajay haschosen the engineering stream.
Question Type: MCQ
Question ID : 6306802904899
Option 1 ID: 6306801129905
Option 3 ID : 6306801129903
Option 3 ID: 6306801129904
Option 4 ID: 6306801129906
Status: Answered
Chosen Option: 4
Q.12 Select the most appropriate option to fill in the blank.
you don't want coffee I can make some tea for you.
Ans LI
X 2.5
x 3. However
/X 4.Though
Question Type: MCQ
Question ID: 630680290509
Option 1 ID: 6306801129946
Option 2 ID : 6306801129943
Option 3 ID: 6306801129945
Option 4 ID: 6306801129944
Status: Answered
Chosen Option: 4
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Q.13

Ans

CL.14 Sentencesof a paragraph aregiven below in jumbled order. Arransge the sentences in the correct

Ans

Select the correctly spelt sentence.
/< 1.The televesion is not working today.

o 2. The television is not working today.
/< B.The talevision is not working today.

x 4. The telivision is not working today.

Question Type: MCQ
Question ID : 630680290498
Option 1 ID: 6306801129901
Option 2 ID : 6306801129899
Option 3 ID: 6306801129303
Option 4 ID : 6306801129900
Status: Answered
Chosen Option: 3

order to form a meaningful and coherent parasraph.

A.Digital citizens can use technology to communicate with others online and know how to use the

internet in a safe and responsible way.
B. We use the word ‘digital to talk about computer technology; Being a ‘citizen’ means that you

belong to a group of people.
C.Everyone's talking about ‘digital citizenship’, but what is it?
D. Are you a good digital citizen?

/< 1.ADCB
o 2.CBAD
/< B.ACDB

/< 4.CDAB

Question Type: MCQ
Question ID : 630680290503
Option 1 ID : 6306801129938
Option 2 ID : 6306801129930
Option 3 ID: 6306801129929
Option 4 ID : 6306801129937
Status: Answered
Chosen Option: 4
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Q.15 Select the option that can be used as a one-word substitute for the underlined sroup of words.

A laree crowd of people, especially one that was disorderly and wanted to cause trouble or violence
had gathered in front of the factory.

Ans o 1. mob
/< 2 pack
X B.flock
/< 4.group
Question Type: MCQ
Question ID : 630680290503
Option 1 ID : 6306801129931
Option 2 ID : 6306801129919
Option 3 ID: 6306801129920
Option 4 ID: 6306801129923
Status: Answered
Chosen Option: 1
section : General Knowledge
a1l arumar ddte wgratedt wfer g @ srerde Qo Hg=ardi Sl 31Te.
Ans X L &lgsEE]
X 2. et STET
V 0. Eilﬁmmlm
X 4. greroTireaTH
Question Type: MCQ
Question ID : 630680290513
Option 1 ID: 6306801129959
Option 2 ID : 6306801129962
Option 3 ID : 6306801129961
Option 4 ID : 6306801129960
Status: Answered
Chosen Option: 4
02 Wgea Mide 2 it fruar gafdarg St @ma=m degr et gl
Ans ¢ 1.1861
/X 21881
/X 3.1891
X 4.1871
Question Type: MCQ
Question ID : 630680290512
Option 1 ID : 6306801129955
Option 3 ID : 6306801129937
Option 3 ID : 6306801129958
Option 4 ID : 6306801129956
Status: Answered
Chosen Option: 3
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Question Type: MCQ
Question ID : 630680290518
Option 1 ID : 6306801129981
Option 2 ID : 6306801129983
Option 3 ID : 6306801129979
Option 4 ID: 6306801129980
Status: Answered
Chosen Option: 1
04 IR faor AgmEPt SRIRER (North South hishway corridor) sfi=mR srrfor GRG G
Ans o LEFAGHR
X 2 JEHEETS
X B.IdR
X 4T
Question Type: MCQ
Question ID : 630680290517
Option 1 ID : 6306801129975
Option 2 ID : 6306801129976
Option 3 ID : 6306801129977
Option 4 ID: 6306801129978
Status: Answered
Chosen Option: 1
Q5 TR STARA SIIa-aTel] a1 §Thi S chegl 98 JHTUTe?
Ans X 114Ul 1919
X 211U 1919
X 3.12 UMW 1919
o 413U 1919
Question Type: MCQ
Question ID : 630680290511
Option 1 ID : 6306801129954
Option 2 ID : 6306801129951
Option 3 ID: 6306801129952
Option 4 ID: 6306801129953
Status: Answered
Chosen Option: 1
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o 3. Theh (AU 11 ghg 318
X 4. fem 1 anfor 11 g8t gl smga
Question Type: MCQ
Question ID : 630680290524
Option 1 ID : 6306801130003
Option 2 ID : 6306801130006
Option 3 ID : 6306801130004
Option 4 ID : 6306801130005
Status: Answered
Chosen Option: 3
Q7 HERIE HIUTAT ASATAT arged ST AN 31187
Ans X L&HAfeHh
X 2.7mEn
o & ToRId
X 4. defron
Question Type: MCQ
Question ID : 630680290521
Option 1 ID : 6306801129992
Option 2 ID : 6306801129993
Option 3 ID : 6306801129991
Option 4 ID : 6306801129994
Status: Answered
Chosen Option : 3
Q8 HERIET TESSUNT Shiesd o =aT g ia Areflerdehl ahivra atvg A1gh
Ans o 1B HCI =T dNasIEe! Jdid gy 3e.
X 2. a1 e AT, Tlg, HATar S1foy of s “RUR UHTUE 3. Td uleer die srd.
X 5. T Hod hiehed, Araeter afor Sfea ugraft emavar s,
X 4. 168! HET GHd: RIRUATHIh, @let STIor Surd S,
Question Type: MCQ
Question ID : 630680290523
Option 1 ID : 6306801130002
Option 2 ID : 6306801130000
Option 3 ID : 6306801130001
Option 4 ID : 6306801129999
Status: Answered
Chosen Option : 3
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Question Type:
Question ID:
Option 1 ID:
Option 2 ID:
Option 31ID:
Option 4 ID:
Status:

Chosen Option:

mca
630680290522
6306801129996
6306801129997
6306801129998
6306801129995
Answered

4

Question Type:
Question ID:
Option 1ID:
Option 2 ID:
Option 31D :
Option 4 ID:
Status:

Chosen Option:

mca
6306802390519
6306801129986
6306801129985
6306801129984
6306801129983
Answered

1

Question Type:
Question ID:
Option 11ID:
Option 3 ID:
Option 3 ID:
Option 4 ID:
Status:

Chosen Option:

mca
630680390516
6306801129973
6306801129371
6306801129972
6306801129974
Answered
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Ans X L 3Jwdg 111
X 2 3= 110
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Question Type: MCQ
Question ID : 630680290514
Option 1 ID : 6306801129964
Option 3 ID : 6306801129963
Option 3 ID : 6306801129966
Option 4 ID: 6306801129965
Status: Answered
Chosen Option: 4
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Question Type: MCQ
Question ID : 6306802905235
Option 1 ID : 6306801130009
Option 2 ID : 6306801130008
Option 3 ID : 6306801130010
Option 4 ID : 6306801130007
Status: Answered
Chosen Option: 3
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X 2. 3iE urges I
X 3. ®iETeT g IeiT
X 4.9 uTge JeT
Question Type: MCQ
Question ID : 630680290513
Option 1 ID : 6306801129970
Option 2 ID : 6306801129967
Option 3 ID : 6306801129969
Option 4 ID: 6306801129968
Status: Answered
Chosen Option: 3
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Question Type: MCQ
Question ID : 630680290520
Option 1 ID : 6306801129990
Option 2 ID : 6306801129987
Option 3 ID: 6306801129988
Option 4 ID : 6306801129989
Status: Answered
Chosen Option: 4
Section : Mental Abllty
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X 4.6
Question Type: MCQ
Question ID : 630680290532
Option 1 ID : 6306801130038
Option 2 ID : 6306801130035
Option 3 ID : 6306801130036
Option 4 ID : 6306801130037
Status: Answered
Chosen Option: 3
a2 Rdwar arfeesa Remar st sirar wweeara 6t Arferest gof o siari= dater= Aast
AD__DAADHH__ADHHD_
Ans o 1L HHDAA
/< 2. HDDAA
/X B.HHAAA
/< 4.HHDHA
Question Type: MCQ
Question ID : 6306802390528
Option 1 ID: 6306801130022
Option 2 ID : 6306801130019
Option 3 ID: 6306801130020
Option 4 ID : 6306801130031
Status: Answered
Chosen Option: 1
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Question Type: MCQ
Question ID : 630680290526
Option 1 ID: 6306801130013
Option 2 ID : 6306801130011
Option 3 ID : 6306801130014
Option 4 ID : 6306801130012
Status: Answered
Chosen Option: 3
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Question Type: MCQ
Question ID : 630680290535
Option 1 ID : 6306801130050
Option 2 ID : 6306801130049
Option 3 ID : 6306801130048
Option 4 ID : 6306801130047
Status: Answered
Chosen Option: 1
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Ans X L2
X 24
X 3.3
41
Question Type: MCQ
Question ID : 630680290533
Option 1 ID : 6306801130040
Option 2 ID : 6306801130042
Option 3 ID : 6306801130041
Option 4 ID : 6306801130039
Status: Answered
Chosen Option: 4
Q6 SOTHHTO! GHIT J&R-TWE g1 ufgean ar-wgneft Hdfda g, amavmmot faw=ar srar-asgnaft
NHTR:SUIO = BDTR:
Ans X 1.SUCE
o 2.SUEC
X B.SEUC
/X 4.SCUE
Question Type: MCQ
Question ID : 630680290539
Option 1 ID : 6306801130024
Option 3 ID : 6306801130023
Option 3 ID : 6306801130023
Option 4 ID : 6306801130026
Status: Answered
Chosen Option: 3
Q7 SR'¥ 91 HY AT M1E, 'S 9T 3 FoITareh! 18, ‘@ AT 37 YUITRIR 3T 0T % AT 31 WRTTah1R 31T,
TR GTeA e UgTaeie Jod AT,
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Ans ¢ 1.50
X 2.40
X B3.56
X 4.42
Question Type: MCQ
Question ID : 630680290539
Option 1 ID : 6306801130063
Option 2 ID : 6306801130064
Option 3 ID : 6308801130066
Option 4 ID : 6306801130065
Status: Answered
Chosen Option: 1
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Ans ¢ 1.E5J100
X 2.ESK100
/< B3.E5J90
/< 4.ESKS0
Question Type: MCQ
Question ID : 630680390527
Option 1 ID: 6306801130016
Option 2 ID : 6306801130017
Option 3 ID : 6306801130015
Option 4 ID : 6306801130018
Status: Answered
Chosen Option: 1
09 Y IR eR-ayg R snga, sarddhr = venr fafre a2 gu enga snfor uas drest o e A
THUTRT ST&R-THE M.
Ans X LCUP
X 2 HIM
X B.Juc
o 4ILL
Question Type: MCQ
Question ID : 630680290530
Option 1 ID : 6306801130027
Option 2 ID : 6306801130029
Option 3 ID : 6306801130028
Option 4 ID : 6306801130030
Status: Answered
Chosen Option: 4
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